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General Awareness

1. Who was the second Prime Minister of India?

(a) Morarji Desai (b) Narendra Modi
(c) Lal Bahadur Shastri (d) Charan Singh
2.  India became republic in .................
(a) 1947 (b) 1946 (c) 1950 (d) 1948

3.  What was the ancient name of Mahabalipuram?

(a) Mahamallapuram  (b) Mamallapuram  (c) Mabalipuram (d) Mahamallipuram

4.  The river that flows between Vindhya and Satpura Ranges is

(a) Kshipra (b) Narmada (¢) Kavert (d) Jhelum
5. A land surrounded by water on three sides is called

(a) Island (b) Lagoon (¢) Peninsula (d) Plateau
6. Who was the Chairman of the drafting committee of the Indian constitution

(a) KM. Munshi (b) T.T. Krishnamachari

(c) B.R. Ambedkar (d) Syed Mohd. Saadullah
7.  Number of Lok Sabha seats at present is....

(a) 545 (b) 546 (c) 543 (d) 544
8. In India, village administration is controlled by

(a) Sarpanch (b) Village Revenue Ofticer

(¢) Gram Panchayat (d) Secretary

9.  The National Sport of India
(a) Cricket (b) Football (c) Hockey (d) Badminton

10. Which country will host Olympics 2024 ?
(a) India (b) France (c) Sri Lanka (d) Netherland
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HHE SPTESHdAl

1. WRA ¥ A AU w6 A

(a) "G 296 (b) =g A

(c) % FEIF FMH (d) =T e
2.  WRA FF TG TAT?

(@) 1947 (b) 1946 (c) 1950 (d) 1948
3. WEEISYW F1 A= AT F=0?

(a) HEGYH (b) AMHIH (c) WY (d) TETHETH
4. T <R gage THae ¥ 99 w2y a9 99 T D

(a) famm (b) T (c) FTEY (d) sow
5. 9 0% | I ¥ BRT ST F w0 v s

(a) ﬁqf‘:l' (b) %”E (©) IR (peninsula) (d) 98K (plateau)
6. W G €1 7EET W ¥ oAy B O

(a) *.UH, gah (b) <. &, FEHEE

(c) IR eresey (d) ¥I3 Wi, WEgE
7. 99 H vRA | 1% ™ 98 f1 9

(a) 545 (b) 546 (¢) 543 (d) 544
8. WRA W, W THET Flomeees 3 RifE e ST 2

(a) 90 (b) UTH USTET IMfeepT

(¢) U™ d=TIEE (d) |a
9. WA ¥ WH ¥

(a) PFe (b) Fed> OKED (@) seffes
10. HfUE 2024 € F9EE B9 W 37 TOM

(a) T (b) W OEIRET (d) TS
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

When was the Namami Gange scheme started?

(a) 4% July 2016 (b) 7 July 2016 (c) 5% July 2016 (d) 6% July 2016

Which was the capital of Vijayanagar Empire?
(a) Puna (b) Vadodara (c) Warangal (d) Hampi

Our new Parliament House is situated in

(a) Hyderabad (b) Jammu (c) Old Delhi (d) New Delhi

World Health Organisation’s Indian Office is at
(a) Delhi (b) Itarsi (¢) Indore (d) Chennai

University Grants Commission has jurisdiction over

(a) Grants for Universities (b) Standards for Universities
(c) Both (a) and (b) (d) Secondary Education Boards

'NEP 2020' stands for

(a) National Engineering Policy 2020 (b) National Education Policy 2020
(¢) National Economic Policy 2020 (d) National Ecology Policy 2020

NEP 2020 is applicable to

(a) Primary Education (b) Secondary Education
(c) Higher Education (d) All above

In ancient times, education was imparted at

(a) Schools (b) Colleges (c) Universities (d) Gurukula

Deep meaning of the word 'Guru’' is..

(a) One who dispels ignorance (b) Teacher
(c) Professor (d) one who explains meaning briefly

Which is the National Tree of India?
(a) Teak (b) Coconut tree (c) Mango Tree (d) Banyan Tree
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11, ‘U T qSET B WO F9 fRar T 9n

(a) 4 J&E 2016 (b) 7 IBTE 2016

(©) 5 =TT 2016 (d) 6 J&E 2016
12. o= R AwrsT 1 awueh = e

(@ I (b) TR (¢) T (d) &
13. TAW A §EG WA wEl (o ¥

(a) REUTR (b) 5= (© Ja faeht (d) 75 feah
14. Ry e @14 1 WRAE $Eea wE e B

(a) feeht (b) TeTE (©) 38R (d) ==
15. fHuferes sgam smm 1 aRer 8 3

(a) Frfrareal Ffow s@e@ 3 (b) fufaemeal Hfow 7 fukor

(c) 3 (a) 3 (b) (d) WAt fven =g
16. "TEH 2020' T G AW

(a) T FSfRGT Hfifa 2020 (b) T fren <ffy 2020

(o) T st ifd 2020 (d) Tt wifefeufesdr ifd 2020
17. wAEH 2020 59 o IE] A ¥ 2

(a) eI farem (b) AreAtHE fRran

(c) 3= Rian (d) STgF Tt
18. wiF 1 | e w2l € e oo

(a) @ (b) WeTferETe= ORELIEEIEE (d) ToFw
19. ¥ I T T 9.

(a) F& S [ HT T FLAl & (b) *7EaTU%

(c) AHET (d) H& =1 gHEET
20. WG %1 THY 99 @ MY ?

(@ AR F 9 (b) AT FAE (o) 9™ F 4T (d) FTE # T
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21.

22,

23.

24.

25,

26.

2.

28.

29,

30.

In place of old 10+2 structure, NEP 2020 introduces
(a) 4+3+3+5 (b) 3+3+5+4 (¢) 5+4+3+3 (d) 5+3+3+4

Who is the author of the book 'Panchama Veda - Natya Shastra: Nai Drishti'?
(a) Radhavallabh Tripathi (b) Sushil De (c) Bharat Muni (d) Arjun Dev Charan

How is the image formed on the retina of the human eye?

(a) virtual and inverted (b) real and inverted (c) real and erect (d) virtual and erect
What is SSLV?

(a) Small Satellite Launch Vehicle (b) Smell Satellite Launch Vehicle

(c) Smile Satellite Launch Vehicle (d) Sneak Satellite Launch Vehicle

Which Veda is related to Science & Technology?

(a) Atharva Veda (b) Panchama Veda (c) Sama Veda (d) Yajurveda
Numerical Ability

2+2+2-2is equal to ...........

(a) 1 (b) 372 (¢)2 (d3

The missing number in the series 8, 24, 12, 36, 18, 54 ................. is

(a) 27 (b) 108 (c) 68 (d) 72

In a parking, there are 24 cars and 9 bikes. What is the ratio of bikes to cars

(a)l:4 (b)1:3 (c)3:8 (d2:3

The ratio of Sandeep's age to Pradeep’s age is 4 : 3. After 6 years the age of Sandeep
will be 26 years. How old is Pradeep now? (in years)

(a) 18 (b) 21 (c) 15 (d) 24

0.6x14+05x15=
(a)25.2 (b)28.2 (c) 18.2 (d) 28.5
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21.

22,

23.

24.

25.

26.

27.

28.

29.

30.

T 10+2 T F ¥ W NEP 2020 YT T 2

(a) 4+3+3+5 (b) 3+3+5+4 (©) 5+4+3+3 d) 5+3+3+4
GO 9 - T WE- TR TR 3y 1 ERET B 2

(a) Tarag¥ Brast  (b) Gefw ¥ (c) ¥eagf (@) YT 3 =
HFE AT T W AR i

(a) I IR Se¢ (b) aRA® AR I (o) IEAEF A e (d) AT R/ g

THOHTSH F §?

(a) ¥Y ITUE THET 9 (b) 74 IUUT THEA A

(¢) THIZS VAT BT SFS (d) &% GearEe Ia HEHe

T A1 3T ‘RrEm o Ty & d6he ¥

(a) TYFAT (b) 9 7 (c) AR GESEH
LIRS E R

2 +2+2-2isequalto........... FERE |

@1 (b) 3/2 (c) 2 (d) 3

8, 24, 12, 36, 18, 54 ....... TH §EST H 9IS (missing) T F L 2

(@) 27 (b) 108 (©) 68 (d 72

TF I H, 24 FH IR 9 ALF § | IEF AW BRI o@uE w0 L

@1l:4 (b)1:3 (c)3:8 d2:3

ﬁﬁwﬁmﬁnqﬁwﬁmmmm3%leaﬁ%mﬁ€rﬁﬁm26aﬁ€rmﬁl
T o fea w1 #1 &2 ()

(a) 18 (b) 21 (c) 15 (d) 24

0.6x1.4+05x15="?

(a) 25.2 (b) 28.2 (c) 18.2 (d) 28.5
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31.

32.

33.

34.

3S.

36.

37.

38.

39.

40.

A can finish a work in 18 days and B can do the same work in half of the time taken by
A. Then working together, what part of the same work they can finish in a day?

(a) 1/6 (b) 1/9 (c) 2/5 (d)2/7

A man can row 5 km / per hour in still water. If the river is flowing at 1 kmph it takes
him 75 minutes to row to a place and come back. How far is the place (in kms)?

(a)3 (b)2.5 (©)4 (d) None

3 chairs and 2 tables cost Rs. 700. 5 chairs and 3 tables cost Rs. 1100. What is the cost
of 2 chairs and 2 tables? (in Rs.)

(a) 300 (b) 350 (c) 450 (d) 600

Find the LCM of 1173 and 1479
(2) 34017 (b) 34019 (c) 34013 (d) None

By selling 150 mangoes, a fruit seller gains the selling price of 30 mangoes. His gain is

(a) 25% (b) 16% (c) 24% (d) 27%

2 .1 1
Simplify 1—-2-+2—
Py 9 3 6

1 1 1 5
(a) 38 (b) 25 (c) IE (d) 25

There are 6440 soldiers. They are asked to stand in rows to form a perfect square. After
forming a square, 40 soldiers are left out. What is the number of soldiers in each row?

(a) 40 (b) 80 (c) 64 (d) 60

How many bricks are required to build a wall of 15 m length, 3 m height and 50 cm
thick, if each brick measures 25 cmx 12 cm x 6 cm

(a) 12,500 (b) 12,000 (c) 12,600 (d) 12,100

A boy purchased 5 pencils @ Rs. 3/- each; 3 erasers @ Rs. 2/- each and 3 Sharpeners
@ Rs. 5/- each. What is the average expenditure per article?

(a) 3.27 (b)3.5 (c)4 (5

In a co-educational secondary school, 65% of the students are boys. If there are 224
girls in the school, find the number of boys in the school

(a) 640 (b) 224 (c) 416 (d) 426
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

A TF T F1 18 R § 00 % w4 § oiv B I w1 B A g7 FU T g ¥ oy wwa §
wm%|ﬁﬂ@mwmm%§,%@ﬁﬁﬁaﬁmm%m%wwmm§?
(a) 1/6 (b) 1/9 (©) 2/5 (@ 2/7

TF A (R Ot | 5 fEr af da 6 i & T wer e ¥ AR w6 1 Rl wfy
F QT2 R, AN CE AW WA AR Ao A F 75 B T ¥ | ae e
T (Frariier #) o2

(a) 3 (b) 2.5 (© 4 (d) ®15 &

3 TRET i 2 =% 6 $Wa 700 w9 & | 5 Tl 3R 3 39w 1 $M9 1100 TOH 1 2
P! R 2 A B FrAw w0 L2 (F

(a) 300 (b) 350 (c) 450 (d) 600
1173 ¥R 1479 F1 odien s £ | |
(a) 34017 (b) 34019 (¢) 34013 (d) T3 § &

150 TRl #1 S, TF %S Rordl 30 i w1 Frska e wW S ¥ sHw wm Y — —

(a) 25% (b) 16% (c) 24% () 27%
2 1 .1
WEFA 15-2- 42—
9 "3 76

1 1 1 5

a) 3— b) 2- 1— d 22

(a) p (b) 9 (0 T (d) 6

-

6440%%?5%!ﬁ@ﬁ@?aﬁmﬁ%%&ﬁﬁnﬁﬁwéﬁ%hmm%l@a
HYUl T 99 ¥ 90, 4o§ﬁﬁﬁﬁgﬁwm%lqﬁ$ﬁ%ﬁ%ﬁﬁww%
(a) 40 (b) 80 (c) 64 (d) 60

A AT $2 F1 AW 25 W x 12 A x 6 A 2, @ 15 Hiew FvE, 3 Wew =1 @R 50
i A AR T % o feaeh 25 6 o

(2) 12,500 (b) 12,000 (©) 12,600 (d) 12,100

TF T 7 5 U 3/- 7 9 W B A @l 3 o v SR AR S e 3
mﬁmspmﬁﬁmﬁaﬁaﬁﬁluﬁra@maﬁaa(average)mw%?

(a) 3.27 (b) 3.5 © 4 @ 5

% He-3fer® wratE e 4, 65% BT BIF & | A x5 § 224 TIeai ¥, o A
ITw F GE @ FE |

(a) 640 (b) 224 (©) 416 d) 426
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41.

42.

43.

44.

45.

The price marked on a book is Rs. 450. If the shopkeeper allows 10% discount, what
is the sale price of the book?

(a) 45 (b) 495 (c) 405 (d) 400

Find out simple interest on Rs. 625/- @ 6% percent per annum for 2% years (in rupees)
(a) 101.56 (b) 101 (c) 96.50 (d) 102

Some amount was invested for 2 years on annual compound interest. First year interest
was Rs. 500/-, second year interest was Rs. 540. What is the sum invested ?

(a) 5000 (b) 5400 (c) 6250 (d) 6000

The diameter of a circle is 14 cm. What is the area?

(a) 154 sq. cm. (b) 172 sq. cm (¢) 220 sg. cm. (d) 156 sq. cm.

The side of a cube is 6 cm. What is its total surface area

(a) 666 sq. cm (b) 333 sq. cm (¢c) 111 sq. cm (d) 216 sq. cm

46-50 : Study the following table and answer the questions.

46.

47.

48.

49.

50.

Marks obtained in

Subjects Sanskrit Veda English Hindi
Name of the Student

Raghav 92 91 78 82
Murali 91 90 80 81
Gopi 78 85 84 85
Sushila 93 92 91 87

The name of the student who stood first in the class

(a) Raghav (b) Murali (¢) Sushila (d) Gopi

Who got second marks in Hindi?

(a) Sushila (b) Gopi (c) Raghav (d) None
Who got 85 marks in Veda?

(a) Murali (b) Raghav {(c) Gopi (d) None
Who got 91 marks in Sanskrit?

(a) Murah (b) Gopi (c) Sushila (d) None

What is the overall average marks of all the students

(a) 346 (b) 345 (c) 347 (d) 348
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41.

42.

43.

44,

45.

T §EAF W HE H 450 T 3 | Y TEEER 10% 2 340 L, S TqF W B e v
(a) 45 (b) 495 (c) 405 (d) 400

625/- T4 T A T9 6.5 AT F T H WY =1 2.5 T ¥ (o0 79 $R0 @@ §)
(a) 101.56 (b) 101 (©) 96.50 (d) 102
wuﬁlaﬁmmﬁ;mmzﬁ%m%ﬁﬂ%ﬁl@aﬁmmsoowan,
A T F A 540 ¥4 o1 | frdm 6 g iy w0

(a) 5000 (b) 5400 (c) 6250 (d) 6000

UF TW B A 14 AW 2 A 4 o &

(a) 154 =9 Gt | (b) 172 = G+ (c) 220 T EH | (d) 156 a9 I |

T T S 6 I R | THE T T A% T 2
(a) 666 T Gt (b) 333 =T 4HI (¢) 111 =9 aHt (d) 216 =7 G

46-50 : Trafefaa aifo® ®1 orerm HiRvm ) vai % 3@ R |

46.

47.

48.

49.

50.

e i%
et HEFT LG Epil féd
B 1 AW
RG] 92 91 78 82
T 91 90 80 81
T 78 85 84 85
LB 93 92 91 87

T H T T A F S BT BT A ————-

(a) THE (b) G (c) gafte (d) vt
f&dl 7 T ofw fEem wmw few

(a) Gaiten (b) vt (c) T (d) #7§ T
a7 # 85 iw feww Tw e

(a) G (b) TEE (c) Tt (d) 7§ &

HEFEA § 91 3% fema aw e

(a) HLSH (b) Tt () G=ftet (d) F1§ &
Wi BEI ¥ T 9 F FE 2

(a) 346 (b) 345 (c) 347 (d) 348
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Reasoning Ability

51-53 Choose the correct word in place of question mark

51. TB: Lungs :: Cataract ; ?

(a) skin (b) eve (c) ear (d) throat
52. Mango : Fruit :: Jasmine : ?

(a) Rose (b) Fragrance (c) Flower (d) Lilly
53. [Iron: Solid :: Mercury : ?

(a) Gas (b) Vapour (c) Air (d) Liquid
54-55 Choose the correct number
54. 96:24::120:?

(a) 24 (b) 30 (c) 40 (d) 36
55. 5:25::9:?

(a) 30 (b) 90 (c) 81 (d) 34
56. Madhya Pradesh : Bhopal :: Tamil Nadu : ?

(a) Lucknow (b) Hyderabad (c) Chennai (d) Bengaluru

57. Find the odd man out

(a) Headmaster (b) Principal (¢) Vice-Chanceller (d) Chief Minister
58.  Which number will be next in the series 4, 8,12, 16, 20, .........

(a)4 (b) 12 (c) 16 (d) 24
59. 'Which shall be the next letter in the series A, D, G,J,M, P.................

(X (b)Uu 0V (d)S

60. A student got marks in English from class 6 to 11 as shown below. Study the data and
find out the marks in class 6

" Class 6 7 8 9 10 11
Marks ? 54 63 72 81 90
(a) 9 (b) 18 (c)27 (d) 45
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TH GHa

\___/

51-53 94 % % TM W 9E g g |
51. &t : WS ;: HiREEY ?

(a) <I= (b) 31\ (©) ®F (d) T
52. M : %S :; AHS ; ?

(a) o= (b) g ©) &3 (d) foeht
53. BMET: FE:: UNE: ?

(2) 19 (b) a7 (c) g (d) T
54-55 W& §E&A g |
54. 96 :24 ::120:?

(a) 24 (b) 30 (c) 40 (d 36
55. 5:25::9:°?

(a) 30 (b) 90 (c) 81 (d) 34
56. W T : WIS :: AAASG : ?

() TETS (b) Be¥Eg (c) o (d) FTER
57. 1 T (odd one) F1 4T ST |

(a) TIFTEAF (b) TEETEH

(c) Foufa (d) gEaFt
58. 4, 8,12, 16, 20, ............ T @S] § SFT 491 BF |1 B

(a) 4 (b) 12 (©) 16 (d) 24
59. A, D, G, J, M, P.. T 5@ H 0@ 1aW B4 |1 BF1?

(a) X (b) U OR S

60.

@Wﬁame%uwaﬁﬁﬁﬁaﬁsﬁ%%mﬁﬁﬁ%ﬁwmw%l T T A
AR Fa4T 6 | IW B B 39F 79 F |

Fel 6 7 8 9 10 11
oz ? 54 63 72 81 90
(@) 9 (b) 18 (c) 27 (d) 45
Page 13 of 24
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61.

62.

In a village, 70% people owned a car. 75% people owned a TV. If 55% people owned
both a car and a TV. What percentage of people are there without a car ora TV

(a) 25% (b) 20% (c) 10% (d) 5%

Identify the diagram which represents the relationship among ....... Book, Pen, Pencil

@ OOO O O

a) b) c) d)

63-65 Observe the diagram and answer the questions

63.

64.

65.

66.

/X

How many ? marks are there in rectangle only ?

(a) 4 (b)2 (c)3 (d)1

How many ? marks are there in triangle only ?

()3 (®) 5 (©)2 (d)4

How many ? marks are there common in both the figures ?

(a) 2 (b) 1 (c)3 (d)7

Study the following statements and conclusions and decide which conclusion is correct:

Statements : 1. No mobile is a watch

2. All watches are calculators
Conclusions : 1. No calculator is a mobile

2. Some calculators are mobiles
(a) Both conclusions are wrong
(b) Only conclusion one is correct
(c) Only conclusion two is correct
(d) Conclusion one is correct or conclusion two is correct
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61. TF WA H, 70% SFH ¥ I TF TR i | 75% STt ® I T o1 | AfY 55% IeTi ¥ U
FR AR et G ¥ @ e aRrea oF B W S ¥ e B
(2) 25% (b) 20% (©) 10% (d) 5%

62. 9§ @ o i vewm ARE S 7w, wow, Ufe ® i w dey B et g |

@ ooo © O

a) b) c) d)

63-65 ANFET o 1 ESFT FiRM IR vl ¥ 39 SR |

A

63. ¥9% M (rectangle) & fray 2 g ¥
(a) 4 (b) 2 () 3 (d 1

64. 9% OR # feaw 2 R ¥

(a) 3 . (b) 5 (c) 2 d 4
65. M wFhral # fEaq ? g W (common) ¥
(a) 2 (b) 1 () 3 (d) 7
66. ﬁﬂ%@a$ﬁ3ﬁtﬁﬁsﬁwmwﬁﬁﬁﬁuﬁﬁwﬁﬁﬁﬁsﬁﬂmﬁﬁﬁﬂﬁ% |
FUT - 1. FIE AERES 9 T8 2
2. O 9l oo ¥
Ty . 1. Eﬁl'&:' %353\ 2T ‘4151135'5 :@T%

2. T FoFUe AEED &
(a)ﬁﬁ@ﬁ"l@ﬁ%
(b) Faw e v o &
(¢) ¥a% fewd S 98 3
(@ Y o= =8 & O s 37 o 2
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67.

68.

69.

70.

71.

72.

73.

Which figure is not like other figures

A

O

(a) (b)

(c)

(d)

I want to purchase a pen. What should I decide first

(a) colour of pen
(c) durability of pen

(b) quality of its writing
(d) Whether I have money

Ram started walking from his house. He went 2 km. opposite to his house. He took 'U'
turn and walked 4 km. How far he is from his house ?

(a) 2 km

(b) 4 km.

(c) 6 km. (d) None

There are 50 students in a class. M is eighth from top. H is 20th from bottom. How
many students are there between M and H ?

(a) 22

Match the following

A) Father's Father
B) Son's wife

C) Sister's Husband
D) Mother's brother

(a) A-1, B-2, C-3, D-4
(c) A-4, B-2, C-3, D-1

(b) 23

(c) 24 (d) 25

1. Maternal uncle

2. Brother-in-law

3. Daughter-in-law

4. Paternal Grand Father

(b) A-4, B-3, C-2, D-1
(d) A-2,B-1, C-4, D-3

How many squares are there in this diagram ?

(a)3

(b) 5

(c)7 (d) 4

What is the right order for these words from lowest.

1. First Floor 2. House

(@) 1,2,3,4,5

July 2023

3. Village
(b)5,4,3,2,1

4. District 5. State
(c)3,4,5,1,2

(d)1,2,3,5,4
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67.

68.

69.

70.

71.

T | Y@ 5 e 6 aE T8

/A O

(a) (b) (o) (d)
¥ TF FoH WUTA A § | GH T T 99 FE AR
(a) FSH & T (b) 3% & I o
(¢) F&H =T TR (d) ¥ T g 94 B

T 99 T U5 Fod oW | TE AT W F A 2 FEelt g T e | s\w g A fon
9 4 Pt T2 o | 7w W R el g
(a) 2 T (b) 4 ¥ | () 6 fFH | (d) T8 W T

FFAASOBAEIM AT M WY H, T A0 wEl Ml
F o fraa Rt ¥

(@) 22 (b) 23 (c) 24 (d) 25
frateten w1 fem =9 |
A) fuar =1 fuar 1. |
B) F¢ & Tt 2. S
C) & 1 ufd 3. T
D) A %7 ¥IE 4, UFF ST
(a) A-1, B-2, C-3, D-4 (b) A-4, B-3, C-2, D-1
(c) A-4, B-2, C-3, D-1 (d) A-2, B-1, C-4, D-3

72. 79 @ | e o ¥

73.

(a) 3 (b) 5 (© 7 (d) 4

3 TE ¥ fou Feaw & w8 w9 =

1. el "% 2. ¥ 3. g 4. f@1 5. O

(a) 1’ 2) 3) 4’5 (b) 5) 4) 3) 2’1 (C) 35 4) 5) 192 (d) 1) 2’ 3, 5)4
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74-75 Study the following arrangement and answer the questions

Gopal Rama

North

West East

South

Murali Krishna

74. Who is in the North-East corner

(a) Rama (b) Krishna (c) Murali (d) Gopal

75. Who is in the South-East corner
(a) Rama (b) Krishna (c) Murali (d) Gopal

General Knowledge on Veda,
Sanskrit and Indian Knowledge System

76. How many Kandas are there in Atharva Veda-Shaunak branch?

(a) 19 (b) 20 ()18 (d) 17

77. On how many Upanishads Bhagavatpad Shankaracharya composed commentaries?

(a) 10 (b) 11 (c) 13 (d) 12

78.  How many verses are there in 'Ramayana'?

(a) 21,000 (b) 9,000 (c) 24,000 (d) 18,000

79. Which is Sanskrit Mahakavya (Epic Poetry)?

(a) Vikramorvasheeyam (b) Uttara Ramacharitam
(c) Kadambari (d) Kiratarjuneeyam

80. How many Kalas (arts) were taught in Gurukulas?

(a) 64 (b) 46 (c) 14 (d) 41
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74-75 Trafofem =@edn =1 sormm $iRm oiv 94 % s Sfm

74.

75.

76.

77.

78.

79.

80.

Gopal Rama
North
West East
South
Murali Krishna
STYE B § B 2
(a) T (b) FoT () g% (d) 7T

IROLTE =W H wm &
(a) TH (b) T (c) g (d) 7T

49, WEFEA, AN VR T O W T S

31_ v\_a ﬁ_c\ S %’?
(@) 19 (b) 20 (c) 18 () 17
YT TFU S N Fra SaREl WA an

(@) 10 ) 11 () 13 (d) 12
T # W ¥

(a) 21,000 (b) 9,000 (c) 24,000 (d) 18,000
UEEd HETHTSA BI-H1 22

O REETIERIRE (b) IR THIRTH

(c) FTEHY (@) FruasHag

TEFS § ot Forei 61 Ran 9 st o2

(a) 64 (b) 46 © 14 (d) 41
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Language Comprehension

Fill up the blanks with suitable option :

81.

82.

83.

84.

8s.

86.

............ European girl came to India

(a) The (b) An () A (d) None

Each of the students ............ a prize

(a) get (b) gets (c) have got (d) have not got
It has been raining ............ Monday

(a) since (b) from (c) for (d) hence
Which is the ............ tea, coffee or milk?

(a) good (b) better (c) best (d) most good
............ is a good exercise

(a) Swim (b) To swim (c) Swimming (d) To swimming
........ is the Synonym of 'Hamper"

(a) unblock (b) smooth (c) prevent (d) None
........... is the Antonym of 'condemn’

(a) Disagree (b) Approve (c) Conceit (d) None

The following sentences can be written as

88.

89.

90.

'He annoyed her' can be written as

(a) She was annoyed her (b) She was annoyed at her
(c) She was annoyed to her (d) She was annoyed by him
He said, 'The Sun sets in the West' can be written as

(a) He said that the Sun sets in the West

(b) He told that the Sun sets in the West

(¢) He informed that the Sun would set in the West
(d) He said that the Sun would set in the West

'Very few employees are as good as Sameer' can be written as

(a) Sameer is the best of all the employees

(b) Sameer is better than all the employees

(¢) Sameer is not better than most other employees
(d) Sameer is one of the best employees
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AT 1 g9

Fill up the blanks with suitable option :

81. ... European girl came to India

(a) The (b) An (©)A (d) None
82. Each of the students ............ a prize

(a) get (b) gets (c) have got (d) have not got
83. It has been raining ............ Monday

(a) since (b) from (c) for (d) hence
84. Whichis the............ tea, coffee or milk?

(a) good (b) better (c) best (d) most good
85 . is a good exercise

(a) Swim (b) To swim (c) Swimming (d) To swimming
86. ... is the Synonym of 'Hamper'

(a) unblock (b) smooth (c) prevent (d) None
87. e is the Antonym of 'condemn’

(a) Disagree (b) Approve (c) Conceit (d) None

The following sentences can be written as

88. 'He annoyed her' can be written as

(a) She was annoyed her (b) She was annoyed at her
(¢) She was annoyed to her (d) She was annoyed by him

89. He said, 'The Sun sets in the West' can be written as

(a) He said that the Sun sets in the West

(b) He told that the Sun sets in the West

(¢) He informed that the Sun would set in the West
(d) He said that the Sun would set in the West

90. 'Very few employees are as good as Sameer' can be written as

(a) Sameer is the best of all the employees

(b) Sameer is better than al the employees

(¢) Sameer is not better than most other employees
(d) Sameer is one of the best employees
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01. ‘e’ s B UAFATH TR WA A AL 82

(a) g4 (b) &
92, ‘Hiur we %1 oW T T ¥2
(a) &9 (b) HfeA
93. ‘WA W@ ¥ |- Tg THE————- e HE
(a) (b) Waea
94. SATHEI ¥ AR ITH T69 F1F 61 22
(@) # (b) T0
95. ‘W T 1 AEETA TN &2
(a) *X (b)
96. ‘A TR w1 AT T2
(a) (b) T
97. ‘Rl =t w1 iR w2
(a) Fergefioft OREEE
98-100 [ &Y YEAMY
98. W ¥ A7 ¢ |
(a).ﬁﬂm%%@ll

(¢) TF HH A 5 |
99. W gA WS o |

(a) 98 g4 <1 @ |
(c) SE i S =78 |

Ne 2

100. ¥ # FEET AW |
(a) T FEE A |
(¢) ¥ HT HEt AT |
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xwn

(c) wreoft (d) 9%

(c) <&t (d) T

(¢) T (d) =

(© T (d)

(c) = (@ F5 & T
(c) T (d) A

(o) dfea (@) Rers

(b) ¥ o9 & 2 |

(d) I FE TG0 8 |

(b) 7 9ga S @IS |
(d) 394 s @ |

(b) H AT FEHT GATSH |
(d) # ST FEAT GG |
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9L ‘gl W= F TATA W B A A o

(a) G (b) & (c) =rvft (d) g%
92. W wsT W ReW T T b

(@) FY (b) Ff&T (c) < (d) W
93. ‘WA MY |- 98 T————. e H 7|

(a) ¥d (b) e (¢) T (d) fiea
94.  ATE ¥ NFEW IW 6T B A1 &

(@) # (b) TH (©) 7 (d) =4
95. ‘WU T BT AgAAT T B2

(a) T (b) = © T (d) I 7&
96. WU em w1 ST Ty B2

(a) ATfra (b) (c) At (d) A
97. ‘Fgd = = 9Rm b

(a) fergeftaoft (b) fegrg (c) dfead (d) Rrer

98-100 IF ®Y Yg=IT

98. W™ ¥ T E |
(@) 919 T & 59 |
(c) T F4 T & |

99.  IH® WgA S @ |
(a) € 957 o @7 |
(©) & =iy g =g |

100. & ¥ wae wAEAT |
(a) & W FHE g |
(© # ¥ e e |
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(b) =% 59 @ 2 |
(d) 99 ¥ 91 T |

(b) 9 Fga T @1¢ |
(d) 394 =its =7 |

(b) & 1o+t et gArE |
() ¥ 319 FEr g |
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